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$� /DWDU�%HODNDQJ�3HQHOLWLDQ

0DVDODK� OLQJNXQJDQ� KLGXS� PHUXSDNDQ� WDQWDQJDQ� JOREDO� \DQJ�

PHPEXWXKNDQ� SHUKDWLDQ� VHULXV�� WHUPDVXN� ,QGRQHVLD�� 0DVDODK� VHSHUWL�

SHUXEDKDQ�LNOLP��SROXVL�GDQ�NHUXVDNDQ�OLQJNXQJDQ�WHUXV�PHQLQJNDW�DNLEDW�

UHQGDKQ\D�NHVDGDUDQ�GDQ�NHSHGXOLDQ�PDV\DUDNDW�WHUKDGDS�OLQJNXQJDQ��2OHK�

NDUHQD�LWX��SHQGLGLNDQ�PHPLOLNL�SHUDQ�SHQWLQJ�GDODP�PHPEHQWXN�NDUDNWHU�

JHQHUDVL�PXGD�DJDU�SHGXOL�WHUKDGDS�OLQJNXQJDQ��6XU\DQL�������

3URJUDP�$GLZL\DWD� \DQJ�GLLQLVLDVL� ROHK�.HPHQWHULDQ�/LQJNXQJDQ�

+LGXS GDQ� .HKXWDQDQ�� PHQMDGL� VDODK� VDWX� XSD\D� VWUDWHJLV� GDODP�

PHQJLQWHJUDVLNDQ�QLODL�QLODL�SHGXOL�OLQJNXQJDQ�NH�GDODP�GXQLD�SHQGLGLNDQ��

3URJUDP� LQL� EHUWXMXDQ� XQWXN� PHQFLSWDNDQ� VHNRODK� \DQJ� SHGXOL� GDQ�

EHUEXGD\D� OLQJNXQJDQ� PHODOXL� NHELMDNDQ� EHUNHODQMXWDQ�� SHODNVDQDDQ�

NHJLDWDQ�EHUEDVLV�OLQJNXQJDQ��VHUWD�SHQJHORODDQ�VDUDQD�GDQ�SUDVDUDQD�UDPDK�

OLQJNXQJDQ�

837� 6'1� �� 0DNDOH� 8WDUD� PHUXSDNDQ� VDODK� VDWX� VHNRODK� \DQJ�

EHUKDVLO� PHQHUDSNDQ� SURJUDP� $GLZL\DWD� GHQJDQ� EDLN�� WHUEXNWL� GHQJDQ�

GLUDLKQ\D� SUHVWDVL� MXDUD� �� 6HNRODK� $GLZL\DWD� WLQJNDW� .DEXSDWHQ� 7DQD�

7RUDMD�� .HEHUKDVLODQ� LQL� PHQXQMXNNDQ� DGDQ\D� NRPLWPHQ� VHNRODK� GDODP�
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PHOLEDWNDQ� VHOXUXK� HOHPHQ�� WHUPDVXN� VLVZD�� JXUX� GDQ�PDV\DUDNDW� XQWXN�

PHPEDQJXQ�NDUDNWHU�SHGXOL�OLQJNXQJDQ�

%HUGDVDUNDQ� KDVLO� REVHUYDVL� \DQJ MXJD WHODK� GLODNXNDQ� VHODPD�

SURJUDP�3/3� ,�'$1� ,,� GL� 837�6'1���0DNDOH�8WDUD VXGDK�GLWHPXNDQ

SHODNVDQDNDQ� SURJUDP� NHSHGXOLDQ� OLQJNXQJDQ� VLVZD� \DQJ� HIHNWLI�� NDPL�

PHQGRURQJ� VLVZD� XQWXN� EHUSDUWLVLSDVL� DNWLI� GDODP� EHUEDJDL� LQLVLDWLI�� ,QL�

WHUPDVXN� NHJLDWDQ� VHSHUWL� PHQDQDP� WDQDPDQ� REDW�� \DQJ� VHULQJ� GLVHEXW�

VHEDJDL� �WRJD�� DWDX� �DSRWHN� KLGXS��� VHUWD� PHPLODK� VDPSDK� RUJDQLN� GDQ�

DQRUJDQLN \DQJ� WHQWXQ\D� VDQJDW� PHQGXNXQJ� GDODP� XSD\D� SHQLQJNDWDQ�

NHSHGXOLDQ� VLVZD� WHUKDGDS� OLQJNXQJDQ�PHODOXL� WLQGDNDQ�Q\DWD�� VDODK� VDWX�

WXMXDQ�GDUL�SURJUDP�$GLZL\DWD�

1DPXQ�� NHEHUKDVLODQ� WHUVHEXW� SHUOX GLNDML� OHELK� GDODP� XQWXN�

PHPDKDPL� EDJDLPDQD� LPSHOHPHQWDVL� SURJUDP� LQL� PDPSX� PHPEHQWXN�

NDUDNWHU� SHGXOL� OLQJNXQJDQ� SDGD� VLVZD�� )DNWRU�IDNWRU� SHQGXNXQJ� GDQ�

SHQJKDPEDW� VHSHUWL� NHWHUEDWDVDQ� IDVLOLWDV�� MXJD� SHQWLQJ� XQWXN� GLHYDOXDVL�

JXQD�XQWXN�PHQLQJNDWNDQ�HIHNWLYLWDV�SURJUDP�LQL��<XOLDQWL��������

3HQHOLWLDQ� LQL�PHQJJXQDNDQ�SHQGHNDWDQ�NXDOLWDWLI� XQWXN�PHQJNDML�

SHODNVDQDDQ�3URJUDP�$GLZL\DWD�GL�837�6'1���0DNDOH�8WDUD��7XMXDQQ\D�

DGDODK� PHQJDQDOLVLV� GDPSDNQ\D� WHUKDGDS� SHPELQDDQ� NHSHGXOLDQ�

OLQJNXQJDQ� GL� NDODQJDQ� VLVZD� GDQ� PHQJLGHQWLILNDVL� IDNWRU�IDNWRU� \DQJ�

EHUNRQWULEXVL� WHUKDGDS�NHEHUKDVLODQ�SURJUDP��)RNXV�LQL�PHPEHQWXN�MXGXO�

SHQHOLWLDQ� WHVLV ³ $QDOLVLV� ,PSOHPHQWDVL� 3URJUDP� 6HNRODK� $GLZL\DWD�
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7HUKDGDS�.DUDNWHU�3HGXOL�/LQJNXQJDQ�6LVZD�'L�837�6'1 ��0DNDOH�

8WDUD´�

%� 5XPXVDQ 0DVDODK

%HUGDVDUNDQ�ODWDU�EHODNDQJ�GL�DWDV�PDND�GL�UXPXVNDQ�PDVDODK�VHEDJDL�

EHULNXW�

�� %DJDLPDQD� LPSOHPHQWDVL� SURJUDP�$GLZL\DWD� GL� 837� 6'1� ��0DNDOH�

8WDUD"

�� %DJDLPDQD� SURJUDP� LQL� EHUNRQWULEXVL� WHUKDGDS� SHPEHQWXNDQ� NDUDNWHU�

SHGXOL�OLQJNXQJDQ�VLVZD�GL�837�6'1���0DNDOH�8WDUD"

�� )DNWRU� � DSD�VDMD� \DQJ�PHQGXNXQJ�NHEHUKDVLODQ� LPSOHPHQWDVL�SURJUDP�

$GLZL\DWD WHUKDGDS� NDUDNWHU� SHGXOL� OLQJNXQJDQ� VLVZD GL� 837� 6'1� ��

0DNDOH�8WDUD"

&� 7XMXDQ�3HQHOLWLDQ

�� 0HQJHWDKXL� LPSOHPHQWDVL� SURJUDP�$GLZL\DWD� GL�837�6'1���0DNDOH�

8WDUD�

�� 0HQJHWDKXL� NRQWULEXVL� SURJUDP� $GLZL\DWD� WHUKDGDS� SHPEHQWXNDQ�

NDUDNWHU�SHGXOL�OLQJNXQJDQ�VLVZD�GL�837�6'1���0DNDOH�8WDUD�

�� 0HQJHWDKXL IDNWRU� SHQGXNXQJ� NHEHUKDVLODQ� LPSOHPHQWDVL� SURJUDP�

$GLZL\DWD WHUKDGDS� NDUDNWHU� SHGXOL� OLQJNXQJDQ� VLVZD GL� 837� 6'1� ��

0DNDOH�8WDUD�
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'� 0DQIDDW�3HQHOLWLDQ

�� 0DQIDDW�3UDNWLV

D� %DJL�*XUX

+DVLO� SHQHOLWLDQ� LQL� GDSDW GLMDGLNDQ� DFXDQ� EDJL JXUX� GDODP�

PHQJLPSOHPHQWDVLNDQ� � SURJUDP� $GLZL\DWD� LQL� GDSDW� OHELK� PDNVLPDO�

DSDELOD� PHPSHUKDWLNDQ� EHUEDJDL DVSHN�DVSHN� NHEXWXKDQ� VLVZD� JXQD�

XQWXN�PHQLQJNDWNDQ� NXDOLWDV� SHPDKDPDQ� VLVZD� WHUKDGDS� SHQWLQJQQ\D�

PHQMDJD�OLQJNXQJDQ�KLGXS�

E� %DJL�6HNRODK

+DVLO�SHQHOLWLDQ�LQL�QDQWLQ\D�ELVD GLMDGLNDQ VHEDJDL PDVXNDQ�GDQ

EDKDQ� HYDOXDVL� XQWXN� VHNRODK� GDODP� PHQJDPELO� NHELMDNDQ� GDODP�

PHQJLPSOHPHQDVLNDQ�SURJUDP�$GLZL\DWD�GL�837�6'1���0DNDOH�8WDUD�

DJDU�EHUMDODQ�OHELK�EDLN�GDQ�PDNVLPDO�ODJL�VHKLQJJD�GDSDW�PHQJKDVLONDQ�

VLVZD�\DQJ�EHUNDUDNWHU�GDQ�SHGXOL�WHUKDGDS�OLQJNXQJDQ�GLVHNLWDU�

�� 0DQIDDW�7HRUHWLV

7HPXDQ� SHQHOLWLDQ� LQL� GLKDUDSNDQ� GDSDW� PHPEHULNDQ� NRQWULEXVL�

\DQJ� VLJQLILNDQ� WHUKDGDS� ELGDQJ� DNDGHPLV� GHQJDQ� PHQLQJNDWNDQ�

SHPDKDPDQ� GDQ�PHPSHUOXDV� SHQJHWDKXDQ�PHQJHQDL� EDJDLPDQD GDSDW�

PHQMDODQNDQ� SURJUDP� $GLZL\DWD� GHQJDQ� EDLN� VHUWD� PHQXPEXKNDQ�

NHSHGXOLDQ�VLVZD�WHUKDGDS�OLQJNXQJDQ�


